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A0 110,116 (4+31)

5 53,112A (+12)
T 57,004 A (+19)
HFEE 40,6985 (+7)
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BEAOGR FEERSRALD (EEREAGIRCEFRSNIZALD) &E@E —BHUEIEA.

g AA 18R Si% 18R ik IR | MR | IR
JE\ERH] 469 3 209 2 260 1 203 0
ELH] 240 1 103 0 137 1 93 0
E=H] 168 -1 75 0 93 -1 70 0
KEH] 50 0 13 0 37 0 28 0
WNEL] 14 0 5 0 9 0 5 0
] 93 0 37 0 56 0 24 0
Eayestil] 56 0 11 0 45 0 8 0
P L ] 548 -5 260 -1 288 -4 293 -3
FEH] 42 0 19 0 23 0 17 0
1 H] 236 -1 98 -1 138 0 87 0
= =[] 82 -2 35 -1 47 -1 35 0
] 235 -2 109 -1 126 -1 112 0
ZH] 143 0 64 0 79 0 68 0
& SHT 539 -4 283 -1 256 -3 259 1
FFrH] 80 0 42 0 38 0 35 0
1GRaH] 29 -2 15 0 14 -2 10 -1
FASEH] 159 -1 70 0 89 -1 86 -1
—&T 0 0 0 0 0 0 0 0
NET 99 0 47 0 52 0 49 0
T&ET 151 0 74 0 77 0 56 0
N&ET 88 0 40 0 48 0 36 0
NET 280 5 112 0 168 5 104 1
T&ET 239 -1 106 0 133 -1 117 -1
1ok ] 392 -5 171 -3 221 -2 200 -2
SiEH] 2,658 -1 1,275 -3 1,383 2( 1,017 -1
RFRE] 3,478 7| 1,633 0| 1,845 7| 1,301 3
] 1,396 6 667 -3 729 9 446 2
B a)=<tiil) 1,843 4 934 4 909 0 730 4
FrERHE] 539 -2 246 -2 293 0 223 -1
FHATHT 3,528 -5 1,772 4 1,756 -91 1,460 1
LLAEHT 2,162 9] 1,059 4 1,103 5 842 3




VEIRH] 1,814 -13 910 -8 904 -5 442 -5
Ll e 4,822 11} 2,358 6| 2,464 5( 1,694 9
JFEET R 2,091 -1 1,026 1] 1,065 -2 753 -3
EBZRHE] 9,205 27| 4,484 13| 4,721 14 3,274 10
=2kH] 3,548 -2| 1,725 -5 1,823 3| 1,274 -3
[ EHET 844 5 416 3 428 2 319 3
EREFHIER — 2,414 9 1,158 6| 1,256 3 782 3
EREFHTERS) 1,753 8 852 7 901 1 579 5
EREFHT PG 7> 517 5 261 3 256 2 179 1
Er7KH] 5,540 4 2,643 2| 2,897 2| 1,758 -1
g lii) 86 -3 78 -3 8 0 76 -3
ERH] 48 2 22 2 26 0 28 1
ETRE—TH 434 1 227 1 207 0 192 1
ETREIZTH 337 1 151 1 186 0 151 0
ETREI=TH 0 0 0 0 0 0 0 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 236 0 109 0 127 0 71 -1
rES 0 0 0 0 0 0 0 0
TEE—TH 487 0 218 -1 269 1 203 1
TEEZTH 668 1 304 2 364 -1 310 -1
TEE=TH 332 1 159 0 173 1 148 0
ERE—TH 517 1 232 0 285 1 224 1
RERE—TH 748 -1 372 -1 376 0 335 0
EE=TH 511 -3 263 0 248 -3 235 -3
EMPRET—T B 369 -9 167 -7 202 -2 158 -2
Gl = 601 3 283 2 318 1 262 2
JtFEILE—TH 201 -2 87 -2 114 0 90 0
JtFEILETZTH 452 2 214 1 238 1 196 1
AR —TH 369 -1 187 -2 182 1 158 -1
AR —TH 467 -2 232 -1 235 -1 228 -2
FEH—TH 137 0 62 0 75 0 56 0
FZHZTH 350 3 148 1 202 2 155 0
[REEIH 367 1 173 0 194 1 209 2
wFEE—TH 142 1 69 0 73 1 66 -1
RFEE =T H 313 8 133 2 180 6 122 4
RAEI—TH 480 -2 218 -1 262 -1 178 0
FREIZTH 342 0 158 1 184 -1 140 -1
RREI=TH 451 -1 205 0 246 -1 201 0
FRAFETI T H 374 -1 170 0 204 -1 153 0
FRETRTH 635 1 271 -1 364 2 230 0
FuRE—TH 246 -1 122 -3 124 2 116 -2
FUEEI”TH 390 -4 209 -2 181 -2 189 -3
HIIEEE—TH 500 -4 223 -3 277 -1 222 -2




HIGEAI”TH 335 0 152 -1 183 1 134 1
BRE—TH 187 -2 90 0 97 -2 79 -3
BRI "TH 693 -6 312 -2 381 -4 293 -2
BRE=TH 570 2 276 0 294 2 223 -1
BEEMTH 259 -3 121 -1 138 -2 104 -1
EEEATH 732 6 329 0 403 6 328 2
Kt —TH 315 0 156 1 159 -1 115 1
XK —TH 211 5 108 4 103 1 83 2
AFH—TH 154 1 67 0 87 1 74 0
AFHZTH 9 1 4 0 5 1 5 1
AFH=TH 175 -7 84 -2 91 -5 93 -5
TEEIA—TH 563 1 273 0 290 1 193 1
TEsETFE T H 279 0 138 0 141 0 101 0
TEEAR=TH 112 2 54 1 58 1 42 1
TEEIFEM T B 416 1 193 0 223 1 157 0
TEEAATH 691 10 331 -4 360 -6 258 -2
TEEIPRNT B 385 11 187 -5 198 -6 159 -4
TEsETFEE T H 472 -5 224 -5 248 0 214 -3
TEEIFEA\TH 658 -1 324 0 334 -1 260 -2
TERER—TH 1,379 1 665 2 714 -1 567 1
THREERTTH 369 -1 180 0 189 -1 138 0
TEREIR=TH 748 10 358 0 390 10 309 -7
TEREIERIUT B 1,123 6 551 4 572 2 423 3
TAHREERATH 1,206 -2 718 -4 488 2 659 -4
T2REERANT B 650 -1 329 3 321 -4 314 -1
TEZRERETH 1,456 5 701 1 755 4 561 0
TERETERNTH 1,409 5 668 0 741 5 595 1
TEREIRAT B 573 -2 289 -2 284 0 117 -3
TEEIE—TH 66 2 39 1 27 1 49 2
TEEIEZTH 32 0 21 0 11 0 27 0
4N st 80,401 25 38,825 3| 41,576 22| 30,844 -7
AEH]E 169 0 67 1 102 -1 88 -1
AEHTA 143 0 69 -1 74 1 72 0
AEHTRE 15 0 5 0 10 0 10 0
AREHT/NBR 147 -1 66 -1 81 0 67 0
AEHKH 20 0 9 0 11 0 12 0
AEHTEH 83 0 32 0 51 0 41 0
AEH R 16 0 8 0 8 0 8 0
AEHE /R 9 0 2 0 7 0 6 0
45 18 0 8 0 10 0 11 0
AEMXEEST 620 -1 266 =l 354 0 315 =1l
IN= 1 AVES] 39 0 18 0 21 0 26 0
IN= 1RO 54 -2 24 -1 30 -1 35 -1




IN= I E0) 44 0 18 0 26 0 26 0
[1: SHTER S 50 0 23 0 27 0 29 0
[LERTEAR 87 1 36 0 51 1 48 0
[LSHEHH 33 0 15 0 18 0 17 0
NG9 43 0 23 0 20 0 23 0
[LEE/NFS 49 -1 27 0 22 -1 22 0
FEH] 53 -1 25 -1 28 0 36 0
[ S EEET 452 -3 209 -2 243 -1 262 -1
SUEERSET 1,072 -4 475 -3 597 -1 577 -2
TR ET [ A _E 1,434 -1 667 0 767 -1 483 0
T2 X T ] EH 790 7 347 1 443 6 232 7
&R R 1,281 -3 611 -1 670 -2 412 -3
e 2K T iz E P 1,131 -2 539 -1 592 -1 358 0
e 1,491 -4 705 -2 786 -2 441 0
e 1,173 -5 559 -2 614 -3 409 1
TN ] = AR 4,026 11] 1,942 8| 2,084 3] 1,260 5
TR X ERET 11,326 3| 5,370 3| 5,956 0| 3,595 10
ERILIET_ESREESF 1,962 -5 935 3| 1,027 -8 573 -5
ERILIE] RSB 2,564 10| 1,249 3] 1,315 7 808 1
ERILIETER/)N I 2,157 -5 1,073 -3 1,084 -2 750 0
BRI BT PaR T 1,494 1 741 -2 753 3 479 1
BRI LI BT iF 1,033 -1 495 0 538 -1 350 0
ERLLIET) 1R 2,249 8| 1,104 1] 1,145 7 736 2
ERILIE] R T 5,858 -1 2,845 7| 3,013 -8 1,986 7
BRI [X &R 5T 17,317 7| 8,442 9] 8,875 -2| 5,682 6
=) 5t 110,116 31 53,112 12| 57,004 19| 40,698 7




